































	Variables	Code Name		
Independent	Market Value of the hotel - Basic	Estim_value		
maepenaem	scenario	(Constant)		
Dependents	ISO Certification	ISO	-12 factor	
	Green Key Certification	Green_key	-12 factors	
	Greek Breakfast Certification	Greek_breakfast		
	Seaside hotel	Seashore		
	Distance from the city center	Dist_center		
	Distance from the nearest airport	Dist_airport		
	Parking	Parking		
	Number of rooms	No_rooms		
	Average accommodation cost	Average_room_ price	6 Excluded	
	Operation period in months	Operation_period		
$\rightarrow$	Operation period in days	Operation_days		
$\rightarrow$	Hotel's occupancy	Hotel_occupancy		

	Unstanda Coeffic		t	Sig.	Colline Statis	-
Model	В	Std. Error	ι	Jig.	Tolerance	VIF
(Constant)	-3458717.08	287735.48	-12.02	0.00		
Hotel_occupancy	<u>119.10</u>	6.39	18.64	0.00	0.14	7.08
Operation_days	11451.15	734.88	15.58	0.00	0.81	1.24
No_rooms	5888.38	997.98	5.90	0.00	0.14	7.00
Average_room_price	2951.83	685.68	4.30	0.00	0.55	1.82
Green_key	528691.55	183345.70	2.88	0.00	0.88	1.13
Greek_breakfast	-586585.52	280810.70	-2.09	0.04	0.98	1.02

Model	t	Sig.
ISO	-0.46	0.645
Seashore	-0.95	0.342
Dist_center	-0.56	0.576
Dist_airport	-1.84	0.067
Parking	1.48	0.140
Operation_period	-1.73	0.085





















